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Worksheet No. 3. Encircle the letter of your correct answer. 

1. Which of the following is the correct expanded form of 12,010? 

  a. (12 X 1000) + (1 X 100) 

  b. (1 x 10000) + (2 x 100) + (1 x 10)  

  c. (1 x10000) + (2 x 1000) + (1 x 100) 

  d. (1 x10000) + (2 x 1000) + (1 x 10) 

2. Which of the following has the highest value? 

  a. (2 x 10000) 

  b. (1 x 10000) + (9 x1000) + (9 x 100) + (9 x 10) 

  c. (9 x 1000) + (9 x 100) 

  d. all of the above are equal 

3. Which of the following is the correct expanded form of 10,000? 

  a. (1 x 10000) 

  b. (1 x 10000) + (1 x 1000) 

  c. (10 x 10 000) 

  d. (10 x 100) 

4. Which of the following should be multiplied to a number in thousands place? 

  a. 10                             b. 100                   c. 1000                         d. 10000 
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Answers 

Worksheet No.3 

1. d     2.a      3.a        4.c   


